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General Instructions :

Read the following instructions very carefully and strictly follow them :

(V)

(ii)

(i11)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

Question paper comprises five Sections — A, B, C, D and E. All questions are
compulsory.

Section A - Question nos. 1 to 20 are very short-answer type questions,
carrying 1 mark each. They are required to be answered in one word or one
sentence each, but not exceeding 20 words.

Section B — Question nos. 21 to 23 are short-answer type questions, carrying
2 marks each. Answers to them should not exceed 40 words each.

Section C - Question nos. 24 to 27 are long-answer type questions, carrying
4 marks each. Answers to them should not exceed 100 words each.

Section D — Question nos. 28 to 30 are two passage based questions and one
picture OR cartoon based question, carrying 5 marks each. Answers to them
should not exceed 150 words each.

Question no. 31 is a map based question that includes identification of
important places on the basis of given information. Write its answers in your
answer-book.

Section E - Question nos. 32 to 34 are long-answer type questions, carrying
6 marks each. Answers to them should not exceed 150 words each.

Answers should be brief and to the point and the above word limit be adhered
to as far as possible.

There is no overall choice in the question paper. However, an internal choice
has been provided in 1 question of one mark, 1 question of four marks and
3 questions of six marks. Only one of the choices in such questions is to be
attempted.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
Name any two alliances made by USA in Asia. 2x é =1
OR
Write the full forms of USSR and CIS. 2x é =1
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2. 1987 T, YRA o Ut Ifd T (312, .. UH.) 1 SficTent T A W AT 2 1
3. = § H % SR =1 F1 99 9l ? 1
(A)  TrHver g S i it ug g |
(B) aed seid | T M o |
(©) 7 I H IPE T g |
(D) focw-=mr 4 3geiv afg & |

4. A sdfomaran ¥ dod # adwfie aggait % #E 4 g G | 2x§:1

5. 39 < Sl YgEH ST S 7 A1 A1 BT TS AT A 7 IR U T | 1
(A)  wE
(B) drivg
C) Hited
(D) A

6. TfaRaa I 1 eyl 9 o fow qu Him .
“gf JWa H, FeprdraTeRa Wi<YEs @1 ¥ g T@ad o § d¢ e e

1

3R g ST ® 17 2x ;=1

7.  ‘arEn 99 @l qdl Tesyd Wt wi el a1 g ? 1
8. Itk e ST W o fotu 3rifeles qen wrenfieht 1 wife & stfafed, sib-

31 ik 3TTeh HEwqul § ? 1

9.  wEdl, 1967 W §U Tk W A1 TSA fau™ WISl < T TGl o TR A,
HIUH el I TEU U T | TSI YT’ e S a0 9k o g

SR Y@ SR H1 gy Shifv | 1
10. 3T 1971 H, ¥4 3R ®ifdd 99 & o g&aeiia snfa s fimar &

20-aTa FfY’ o &I ¥ I IR HINT | 1
11. 9Rd < forg <t Tamea & 31g-8f % 9 &1 TR el AT ot ? 1
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2. In 1987, why did India send the ‘Indian Peace Keeping Force’ (IPKF) to

Sri Lanka ? 1
3. The privatization of agriculture in China led to 1

(A) retardation of growth in rural industry.

(B) lowering the personal savings.

(C) aremarkable rise in rural incomes.

(D) aphenomenal rise in foreign trade.

4. In the context of the world economy, cite any two examples of public

goods. 2><£:1
2

5. Identify the country that was neither a member of NATO nor of the
Warsaw Pact. 1
(A) France
(B) Poland
(C) Sweden
(D)  Spain

6. Complete the following sentence in a meaningful way :

“In eastern Europe, Czechoslovakia split peacefully into two independent

countries called and . 2x 5 =1
7. Why is ‘Warsaw Pact’ also called the ‘Eastern Alliance’ ? 1
8. Besides economic and technological power, which other power is very

important to maintain Balance of Power ? 1

9. In February 1967, results of the general elections to the Lok Sabha and
the State Assemblies jolted the Congress Party. Analyse the major factor
responsible for the above setback called the ‘Political Earthquake’. 1

10. Highlight the main objective of the ‘20 Year Treaty of Peace and
Friendship’ signed between India and the Soviet Union in August 1971. 1

11. The paramilitary force of which Princely State of India was known as
Razakars ? 1
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Jeftertor @ wefea frafoafaa & @ Sa-a1 Fum g 7 2
(A) 39 < o ofig Igar H wH TE 7 |

(B) HY UITH UY 1 WET HH 3T 7 |

(C) 3HY IUMHIS & fIw == & fdereq 5@ 8 |
(D) 3EY HTqe S & Y8R § S} 3718 7 |

-8 Sl el g Rl S B 2

1971 % Tlh AT I oh IRATq fohd STAE T 3 3fU el 6t Arepirrar
H gfg #1 2

Tk w1 i 9ite arfer ffaTRaa arer @&t 3T 319Ul o AT

1989 % e | gATE! | Tl ! IO T Hg BT T8 37 35
1 1

1y & WRa | TEHRI 1 T IE 73T | Z 4=l

2 2

fFrefefaa 8 @ a1 s ard)-foiedt steier’ & gl & a3 787 8 2
(A) 7% 3TEeH el i (IeE) & freg ot |

(B) ¥& ATeler =e] fea o fowg o |

(C) I% e e feda frami & foe = oM & faw o |

(D) IE eI Wilieh FHEAT I o foQ o |

frefefiad om =i @@l ek gam fafe

“ Souard AR o WYl g1 MEq aum HEHT 9 g S, ot
AT 1 g < < foTw, s1a st s fomam R |7

“1975 T T ATITAHRTA b G SATGlar 1 e off |7 59 wem it gfe 3q 39

YR shl SATEIT o <hls 2l Iergwul fefeu | é+é=1
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Show with the help of one example that Jawaharlal Nehru made efforts

for Asian unity.

After independence, why were our leaders not ready to reorganise States
on the basis of language in spite of the fact that Congress had already
recognised the linguistic principle as the basis of formation of States ?
Which one of the following statements related to globalisation is true ?
(A) It has reduced the rivalry between countries.

(B) It has reduced the importance of the United Nations.

(C) It has enhanced the choices for consumers.

(D) It has reduced the spread of deadly diseases.

Which countries are known as the “Third World’ ?

Soon after the Lok Sabha elections of 1971, which international event
added to the popularity of Indira Gandhi ?

Fill in the blanks to make it a correct and meaningful statement.

Lok Sabha elections in 1989 led to the defeat of Party and an
era of Governments began in India. é+ é =1

Which one of the following statements is not true for ‘Anti-Arrack
Movement’ ?

(A) It was a movement against alcoholism.
(B) It was a movement against domestic violence.
(C) It was a movement to get justice for poor landless farmers.

(D) It was a movement for gender equality.

Correct the following statement and rewrite it :

“The supporters of the ‘Naxalite Movement’ used force to snatch land

from the poor and the landless to give it to the rich land owners.”

“Excesses were made during the Emergency imposed in 1975.” Support

the statement with any two examples of such excesses. —+—=1
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gifead g A foregl @ fomiwarsti =l ISR hIfT S 38 Uk HHTST shedTul

JOTTAT STt off 2 2x1=2

wa AW feu mu fafafga 9et &1 w@y B ® fqu u det @ wdt faem

HIT 4xé=2
&7y A &Y B

(a)  HEEI () e i

(b)  F&I Uimg (i) T AT T

(c) IE® (JEARHITH.) (i) GFIh TY HT Th 0

(@ < ST S (iv) O TY sl Teh Tardl

1969 H i@ gl # favsH & fou Serf forsl e weht 1 auH Hifu | 2x1=2

Qus

& faerma & T BRI % ®U § ‘enfaEm el i Tl @ Wikl w1 auie

i | 92x2=4
YT

At wEA 3 foehr & E@ed % w9 ° g gu Y fhedl @ il

U il | 2x2=4

T TEaSiT IS o fohegl & IROmHT shl sared hifvu | 2x2=4

1962 ¥ Y& 9Rd 3R = & off= foaarg o fohedl o1 gei o1 fovaiwor s | 2x2=4

1985 U TSia Tieft 3 g T8 AlmaTd gl g&a1eiiid U aueid o foheal
IR JragHEl 1 Tz i | 4x1=4
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SECTION B

21. Highlight any two features of the Soviet System which made it a social

welfare system.

2x1=2

22. Match the following facts under Column A with those in Column B in a

meaningful way :

(a)
(b)
(c)
(d)

Column A
General Assembly
Security Council
UNICEF

League of Nations

1

4dx —=2
2

Column B
(1) Veto Power
(i1)  An international organisation
(iii) An organ of the United Nations
(iv)  An agency of the United Nations

23. Describe any two factors responsible for the split in the Congress Party in

1969.

SECTION C

2X1=2

24. Describe any two strengths of ‘ASEAN Way as an instrument of

development in the region.

OR

2x2=4

Describe any two strengths of the European Union as an organisation of

mutual cooperation and development.

25. Explain any two outcomes of the First Five Year Plan.

2x2=4

2><2=4

26. Analyse any two issues of conflict between India and China before

1962.

2><2=4

27. Analyse any four provisions of the Punjab Accord signed by Rajiv Gandhi
and Harchand Singh Longowal in 1985.
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28. 9 feu sradwur + eamyde ufgr qon frfefaa gei & 3w fofem .
HHEAT i &1 T =R SHA1-SHTG i L& i TS hl T 8 Tl
AT 8 | AEEal i e 3R TSy hl GIE TH-GH % e g =Tel 3R
I Bd ot B | fer gifea U= 1 uaae gHen gt SHar e gar |
ARTHGRT Wl forgRlt g9t & =T Aol & 3eh! GUaT hl W&l Id &l ek 3 W
%I JATH T AT S Hehd1 | HATs I8 7 Tob s 100 awi # o @ fagef
T % g AR U, 399 HaEl A AN GE A & THRT b g IR MY
g |
(a)  TFEAT ! L& 1 MU A& F1 7 ?

(b) T 3GTET hi TR | SIS o fopelt o1 § iy =aee’ 1 wwen
e LT o T @au s Fehell 7 |

(c)  TSHl h! L& | AHaAT hl LT T fh AUl 7 ? 1+2+2=5

29. = fou MU ST FI eAYES qfer qun FEfaied Tl o I fafen

Y dfggm & fmfaet & fovam or & aft wofifos @
TAThdT(~eh HTeh 1 T DUl | 3¢ I8 ot fovarg o fop smaTaew 6t feafa
H oft TR AT STETUROT WAl 1 ST fafY o WmEE % R H &d g8 &
Hafl | 3 TG § THR Dl ARG § ¢ TEGHI o A ATqh IR
=Rt wkwat 3 & T |
(a) WA % Gfoge fEtdareti & e i fovg 9@ & ST ST o 2
(b) UH foregl T TArehdii=eh HTh! sl SATEAT hitoY {SHehT ITed WA & T+t

TSI gal ohl AT =MMEY |
(¢c)  STYTAhIA H WA HIhR <l < TS fohral & STETUNUT WFRAT bl ISR
HIT | 1+42+2=5
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SECTION D

Read the passage given below carefully and answer the following

questions :

Human security is about the protection of people more than the
protection of States. Human security and State security should be — and
often are — the same thing. But secure States do not automatically mean
secure peoples. Protecting citizens from foreign attack may be a
necessary condition for the security of individuals, but it is certainly not a
sufficient one. Indeed, during the last 100 years, more people have been

killed by their own governments than by foreign armies.
(a)  What is the primary goal of human security ?

(b)  Show with the help of an example that the law and order’ problem

in a country may become a threat to Human Security.

(c) Why is it more important to protect people than to protect

States ? 1+2+2=5

Read the passage given below carefully and answer the following

questions :

The makers of India’s Constitution trusted that all political parties
would basically abide by the democratic norms. Even during the
Emergency, when the government would use extraordinary powers, its
use would be within the norms of the rule of law. This expectation led to
the wide and open-ended powers given to the government in times of
Emergency.

(a) By what name was the body of India’s Constitution-makers known
as ?
(b)  Explain any two democratic norms which all political parties of

India should abide by.

(c) Highlight any two extraordinary powers given to the Indian

Government during Emergency. 1+2+2=5
59/B/2. Previous Hathshala P.T.O.
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30. = fou T HET w1 eyHgES A hifvw qur frafafed s % 3™
fafaw

Srg-sera |
# g

() T T AT MU TE A gIiE 3R IRwH ug gIi® gRI iR
& HI9-9 I TR Yl hl ST =T & 2

(i) TR o WeW H gE HHiehtul 1 e T HIWT |

(i) 39 P GRI UIThEAM hl TSHIfG & H&9 # U M0 T &l W
HIT | 1+2+2=5

Fie:  [HElciiga guT SacT GIRETaT GienfEl & 170 F97 61 30 & €9 WE |
(30.1) WIfhEa™ o ferral &1 et Ja™ wfE=t o am fafgu |
(30.2) TATRM AThds TATUT T H UTFhEd™ hl TTHAT o hls & HRUT T8

Hhifse |
(30.3) 1971 H Y1 UTFREdM % TTfhEd™ & I H o T ISR HIE o
Hh TIY HIT | 1424+2=5
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30. Study the cartoon given below carefully and answer the questions that
follow :

1AM
ALWAYS
GOOD AT
CALCULATION

) As shown in the cartoon, ‘Musharraf in tie’ and ‘Musharraf in cap’
represent which two official posts in Pakistan ?

(ii))  Explain the meaning of the second equation in the context of
Pakistan.

(iii) Explain the message conveyed by this cartoon regarding the
politics in Pakistan. 1+2+2=5

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 30.
(30.1) Name any two elected Prime Ministers of Pakistan.

(30.2) Explain any two reasons for Pakistan’s failure to build a stable
democracy.

(30.3) Explain any two factors responsible for East Pakistan’s break
away from Pakistan in 1971. 1+2+2=5
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31. Wra &% feu MU UsHifds @AWl (I8 15 W) § 9= TS H
@, ®, ©, © dn ® % gr sifera foran T B | = & T SAHBD b
MR W 3 TN 61 UgIH HIFTT 3R AU IT-Yfeaept H g Tt a1, T
&Y TS AHHRT Sl ShH T qAT gHfes d fear wan gefua ster, e d e
drfetent o &9 H fofam

TN <kl TS THERI | AHERT |

61 HH TEAT gaf-eg 3Aer S T AT

1)

(i)

(iii)

(iv)

v)

() 98 USY &l 9ier gUer qiEeHr oo § |

(i) 98 TsT T 1961 H YA o hoel § Hh LG T o7 |
(i) 98 TST &l uehl QA T g |

(iv) o8 TSI S Ui el - Aere ngid 8 1 a7 2 |

(v) I8 ¥ Sl qrel-faue) Aeied o g ag B | 5x1=5
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31. In the given political outline map of India (on page 17), five States have
been marked as @A), B), ©, D and ®) . Identify these States on the
basis of information given below and write their correct names in your
answer-book along with the respective serial number of the information
used and the concerned alphabets given in the map as per the following

format :

Sr. No. of the | Concerned alphabet Name of the
information used in the map State

(i)

(ii)

(iii)

(iv)

(v)

1) The State where Sardar Sarovar Project is situated.

(ii)) The State which was liberated from the occupancy of Portugal in

1961.

(iii) The State where Chipko Movement started.

(iv) The State associated with Rajiv Gandhi — Longowal Accord.

(v) The State associated with the ‘Anti-Arrack Movement’. 5x1=5
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For question no. 31

Outline Map of India (Political)
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Fig:  FHECTRET 397 #acl giRanaa qhgntaer & o/ 397 697 31 & €& T/
g1

(31.1) HNTAYS o TTEETE! AdT T 9 faIfiau |

(31.2) 1963 ® forg T <A1 T fopaT TR 41 ?

(31.3) 4l ¥R UEISHT ford U9 9 Tafad 8 2
(31.4) Tiia el shi gea fopd T | 73 off ?
(31.5) ‘G= 1 SNMUhR Haell AR ohH TsA § [E F3T o1 2 5x1=5

Qs g

32. fowa i ToHifd &l waferyr wrerdl foaisti o SR 4 "@=q & o faaw wE

It fepedl = el o1 vl AT | 4><1§=6
AT
HId T ATl o B fehral AR THTET 1 S0 ST | 4x1%=6
33. “Q g faza i guify & e, wra it e-Fruerar it Hfifa vz It g
3R et & W 17 36 Y o9& H hiIg dF IUIH b TRy | 3x2=6
HAYAT
A foem O 9gd ¥ 33T T hi9-§ iH sher, Gifaad 9 sl 1991 § foere
Y S Hhd o ? 3x2=6
34. WNd H AT % YT [eh™ o TF-9 H IUS fohral o &I (TGl ohl SATEAT
SHifST | 2x3=6
HAAAT
1947 T U 9RA % 9o & foheal ©: TROmHT 31 SATe HiNg | 6x1=6
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Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 31.
(31.1) Name the separatist leader of Nagaland.
(31.2) Which State was created in 1963 ?
(31.3) The Narmada Sagar Project is located in which State ?
(31.4) In which State was Rajiv Gandhi assassinated ?

(31.5) From which State was the Movement of Right to Information
started ? 5x1=5

SECTION E

32. Describe any four issues that compelled global politics to think about

environmental concerns. 4x1 é =6
OR
Describe any four effects of Globalisation on India. 4x1 é =6

33. “With the end of the bipolar world, the Non-alignment policy of India lost
its earlier relevance and effectiveness.” Support the statement with any

three arguments. 3x2=6

OR

In your opinion, which three steps if taken earlier could have saved the

USSR from disintegration in 1991 ? 3x2=6

34. Explain any two key controversies related to the development in India

after Independence. 2x3=6
OR

Explain any six consequences of the partition of India in 1947. 6x1=6
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